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EMIGRATION FROM YUGOSLAV LANDS 
IN THE MID FIFTIES OF THE XX CENTURY

The Summary

Emigration from the territories of the former Yugoslav state began in the second half
of the nineteenth century and continues to the present day.  It is possible to distinguish dif-
ferent stages of migration, each with its own characteristics, but one constant through the
decade of the 1950s has been that the majority of emigrants came from Croatia, Macedonia,
Bosnia and Hercegovina, and Montenegro – and to a lesser degree from Slovenia and Serbia.
During and after the Second World War, emigration was primarily “political” in nature. In
the middle of the 1950s some Turkish, Albanian, and Ukrainian emigration began to take
place as well – also primarily for political reasons. Efforts by Yugoslav state and party organs
after 1945 to contain emigration, especially for economic reasons, were not successful.  By
the mid-1950s, faced with an array of problems relating to internal economic development,
authorities seriously began to consider the possibility of legalization of economic emigration
and even realizing a profit from the “export” of workers. This would lead at the start of the
1960s to a liberalization of passport regulations and a marked increase in the “temporary”
out-migration of labor from the country.
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